Screws,; nip( =15

w

COD. A B M !
0301.001.01 56 24 M3x0.5
0301.001.02 7.0 32 M4x0.7
0301.001.03 8.0 40 M5x0.8 1000 ps
0301.001.04 100 50 M6x1.0
0301.001.05 143 83 M10x1.25
oo | g2z Elsle|E|3|E|TE
Material m | = |9 E|® | =G|V 2|55
PAG6 280 | 281 289
PC 03

2023 | catalogo portalampade | lampholders catalogue | www.easrl.com




